UPO

SELECTION OF VARIETIES

For better yield and profit, select varieties that are adaptable to local conditions, market preference and resistant to insect pests and diseases. To guide you in selecting the right varieties, refer to the "Guide in Selecting Lowland Vegetable Varieties" included in the kit.

CULTURAL MANAGEMENT PRACTICES

LAND PREPARATION

Prepare the field as early as possible to give enough time for the weeds and stubbles of previous crops to decompose. Plow and harrow 2 to 3 times alternately at one week interval.

Plow at a depth of 15 to 20 cm. Harrow twice to break the clods and level the field. A well-pulverized soil promotes good soil aeration and enhances root formation.

SEED PREPARATION

- A hectare of farm requires 1 to 2 kg of seeds.
- Soak the seeds in clean water for 24 hours.
- > Pre-germinate the seeds by wrapping in a moist cloth and place in cool and dark place. Incubate until the seed coat breaks.

PLANTING

DIRECT PLANTING

- ▶ Plant one pre-germinated seeds per hill at a distance of one meter between hills.
- > Cover the seeds with thin layer of soil.
- > During wet season, plant in ridges or above furrows to prevent rotting of seedlings due to flooding.

TRANSPLANTING

- ➤ Use a prepared media of one part compost or organic fertilizer, one part clay soil and one part carbonized rice hull. A ready mixed commercial soil media for seedling production can also be used.
- > Fill in plastic bags, potlets or seedling trays with the prepared media.
- > Water the potting media before sowing. Sow one pregerminated seed per potlet.
- ➤ Place the seedling trays/potlets under a temporary shade
- Maintain the seedlings by watering regularly when needed.
- ➤ Harden the seedlings by gradually reducing the frequency of watering and exposing to direct sunlight.
- > Transplant one seedling per hill at a distance of one meter between hills 15 days after emergence or when true leaves have developed.
- > Transplant in the afternoon or during cloudy days.
- > Replant missing hills immediately.

FERTILIZER APPLICATION

The kind and amount of fertilizer to apply depends on soil fertility and soil type. To achieve optimum yield, have your soil analyzed at the Soils Laboratory nearest you to determine the right nutrient requirement of the soil. In the absence of soil analysis, apply the following fertilizers at the time and amount specified:

Time of Application	Kind of Fertilizer	Amount of Fertilizer	Stage of Crop
Basal	Complete (14-14-14)	2 bags per ha or 20 g per hill	Before planting or at 2 to 3 true leaf stage
	Organic (fully decomposed animal manure or commercial organic fertilizer)	20 bags per ha	At sowing time
Sidedress	Urea (46-0-0)	10 g per hill or 1 bag per ha	28 days after emergence
	Urea (46-0-0)	20 g per hill or 2 bags per ha 10 g per hill or 1 bagper ha	56,70 and 84 days after emergence same amount

Cover the basal fertilizer with thin soil before planting to avoid direct contact with the roots of the seedlings. Place the sidedress fertilizer 10 cm away from the base of the plants to avoid burning effects.

TRELLISING

Provide the plants with trellis to produce fruits of good quality. Trellising is also essential during the wet season to minimize fruit rotting and malformation. Construct overhead trellises at a distance of 2 to 3 m wide and 2 m high using ipil-ipil or bamboo poles. Provide strong roof trellis by intertwining tie wire or nylon twine crosswise and lengthwise on top of the trellis. Provide a ladder-like trellis or vertical pole for each upoplant to facilitate the vines to climb up. Train the vines to climb the trellis by tying the stem lightly on the vertical pole or ladder-like trellis until it reaches the overhead trellis.

PRUNING

To promote branching and fruiting, remove the tip of the main vine and the lower lateral branches that appear on the climbing part of the main stem.

WATER MANAGEMENT

Bottle gourd is sensitive to excessive soil moisture, which favors disease infection. Provide adequate drainage during wet season to avoid water logging. Furrow irrigation is recommended during dry season at weekly interval. Spread rice straw around the base of the plants as mulch to conserve moisture and minimize watering during dry season.

WEEDING AND CULTIVATION

Bottle gourd is moderately deep-rooted with extensive lateral root system. Hill-up at 15 to 20 days after emergence. Minimize cultivation during the fruiting stage to avoid disturbing the roots. Hand weeding is recommended during this stage.

CROP PROTECTION

To prevent insect pests damage and disease infection, practice good cultural management and sanitation. Most common insect pest of upo is the yellow beetle and the most common disease is fruit rot. In case of disease infection or pest infestation, follow the management practices for specific disease or pest provided in the Insect Pest and Disease Management Guide for Lowland Vegetables. Flowers of upo usually open in the afternoon. Protect insect pollinators because they are contributors to fruit development. Avoid applying pesticides in the afternoon (after 4:00 PM).

HARVESTING AND POSTHARVEST

Fruits develop very fast and require much attention at harvest time. It usually takes 15 days to reach marketable size from the day of fruit set or 60 to 80 days from sowing. Harvest fruits using a sharp knife by cutting the peduncle, leaving approximately 5 cm length. Put harvested fruits in a woven basket lined with banana leaves to avoid skin bruises. Pack marketable fruits in plastic bags.

Per Particulars	Unit	QNTY	Unit Cost (P)	Total Cost (P)
AND THE RESERVE OF THE PARTY OF	Onit	QIVIT	Offit Cost (F)	Total Cost (F
A.Labor Inputs/Hectare 1. Land Preparation				
a. 1# Plowing		7	300.00	2,100.00
		4	300.00	1.200.00
b. 1* Harrowing		5	300.00	1,500.00
c. 2" Plowing d. 2" Harrowing		3	300.00	900.00
e. Furrowing	MD	4	300.00	1,200.00
Purrowing Making Trelisses	MD	15	300.00	2,250.00
101 A - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	MD	4	150.00	600.00
Basal Fertilizer Application Planting	MD	8	150.00	1,200.00
4. Flanting 5. Thinning	MD	1	150.00	150.00
6. Care of the Plants	IVID	188	130.00	150.00
a. Watering (3xa week up to flowering)	MD	9 x 2	150.00	2,700.00
b. We eding and cultivation (4x)	MD	20	150.00	3,000.00
c. Side dressing of fertilizer	MD	5	150.00	750.00
d. Hilling up	MD	5	150.00	1,500.00
e. Control of pest and	MD	3 x 6	150.00	2,700.00
diseases (if necessary)	NVAE1		905576557.0 9085865500	100110000
7. Harvesting	MD	50	150.00	7,500.00
8. Sorting and packing	MD	4	150.00	600.00
9. Hauling	MD	4	150.00	600.00
Sub-Total				30,450.00
B. Materials Inputs		E - E	2	Ī
1. See ds (OPV)	kg	2	600.00	1,200.00
2. Fertilizer	779	\$5.00	(2)(2)(2)(2)(2)	19 (0) (15 (0) (15 (15 (15 (15 (15 (15 (15 (15 (15 (15
Complete (14-14-14)	bag	2	1,900.00	3,800.00
Organic Fertilizer	bag	20	200.00	4,000.00
3. Insecticide	liter	3	850.00	2,250.00
Fungicide	kg	2	350.00	700.00
5. Fuel	liter	40	50.00	2,000.00
6. Polyethylene	sack	200	5.00	1,000.00
7. Bamboos	pc	500	60.00	30,000.00
8. TieWire	kg	10	75.00	750.00
 Misce la neous (straw, nais, needles, etc.) 				
Sub-Total	·	(a)		45,700.00
Sub-Total (A & B)	76,150.00			
C. Contingencies (15% of the total la	11,422,90			
GRAND TOTAL	87,572,50			
Estimated yield/ha (kg)			-	20.000
Estimated yieldina (kg) Estimated Gross Income (20kg)	200,000.00			
일본 사용을 통해 있는데 보고 있는데 사용을 받는데 없는데 보고 보이다. 프라이트 등에 다른데 보다 보다 보다 되었다. 그 사용을 받는데 보고 보는데 보고 보다 되었다. 그 보고 보다 되었다. 그리고 보다 보다 보다 되었다.	112,427.5			
Estimated Net Income Return of Investment (ROI)	112,427.50			
	57			
Break Even Price (Per Kilo) MD – Man Days				3.7